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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. What is telescopic cylinder?

2. What is the function of pump in hydraulic systems?
3. What is shuttle valve?

4. What is the function of sequence valves?

5. Draw the symbols for 3 position 4-way closed center
solenoid operated direction control valve.

6. What is the function of intensifier?

What are the basic laws that govern the pneumatic
systems?

8. What is meant by fluid logic control?
9. Define low cost automations.

10.  What is the function lubricator in pneumatic circuits?
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PART-B (5x16=80 marks)

Describe the following pump.

(i) Internal gear pump. [€)

(i) Variable displacement in-line axial pump (8
Or

A pump supplies oil at 75m*min to a 40mm 1

diameter double acting hydraulic cylinder. If

the load acting during the extending and

retracting stroke is 4800N and the diameter of

the road is 20mm, find

(i) Hydraulic pressure during the extension
and retraction stroke.

(i} Piston velocity during extension and
return stroke.

(i) Draw and explain the various central (¢
flow path configuration of 4/3 DCV.

(iiy Explain compound pressure relief valve (¢
with neat sketch.

Or
Explain the following with neat sketch.
(i) Safety valve. {

(i) Pressure compensated flow control valve. ¢
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Explain the following circuits.

() Earth mover circuits

(i) Reciprocation circuits
Or

An accumulator is loaded with 500kN weight.
The ram has a diameter of 30em and stroke of
6m. Its friction may be taken as 3%. lts takes
120 sec to fall through its full stroke. Find the
total work supplied and power delivered to the
hydraulic appliance by the accumulator, When
75 lit/min is delivered by a pump, while the
accumulator descends with the stated velocity.
The density of oils as 1000 units

Consider an automatic drilling machine. The
complete cyele is as follows. Cylinder A
extends to clamp the workpiece, then B extend
to drill a hole and then retracts. Cylinder A
retracts to unclamp the workpiece. Design a
control circuit applying the step-counter
method. The circuit is provided with a start
valve to avoid continuous cycling.

Or

() Explain the working principle  of
multistage air compressor.

(i) Explain FRL circuits in pneumatics
systems.
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Explain  with  block diagram  the (¢
components presents in a PLC and give
their functions.

Discuss the step involved in the design of (&
pneumatic systems.

Or
Explain any one hydro pneumatic circuit. (8

Discuss the maintenance procedures of (8
hydraulic systems.




